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We confirm that there exists a clock skew that might be the cause of the problems stated in the evaluation report by M. Hansen. 





Due to problems occurring during the testing of the Channel ASIC version 2 at CERN, it was decided to run concurrent simulations andtests at SiCon. The test results from CERN hinted that there might be some problem with the clock tree. Therefore we decided to first check the layout before doing tests and simulations.





Since the pipeline was not working correctly it was decided to check the clock tree in the layout of this block, both for the address generator and one serial register. The results are shown in the figures below. The resulting clock tree shown was assembled in the synthesis since a decision was taken to let the tool generate this tree. The reason that this skew was not showing during the final simulations is that the delays for the buffers were not taken from an analog simulation. Therefore the synthesis tool could not make the right decisions concerning the clock tree.





We think that it is necessary to check the layout of ALL the blocks in the Channel ASIC before taking any further actions.





There are two solutions to the problem, not excluding each other. A fast solution is to do ”chip surgery” at a company in England and a more long term solution is to regenerate the metal 
